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TIME: 2 HOUR; MARKS: 150;

PART ONE: Multiple Choice Question (MCQs)

(One mark for each correct answer and 0.25 to be deducted for each wrong answer)

General Knowledge

01. Which animal’s genome was first sequenced by Bangladeshi scientists ?

a) Sheep b) Buffalo

¢) Cow d) Hen ans. B
02. Who was the Chairman of the Eighth National Pay Commission ?

a) Dr. Saleh Uddin Ahmed b) Dr. Mohammed Farashuddin

¢) Dr. Shirin Sharmin Chowdhury d) Dr. Akbar Ali Khan ans. B
03. What is the name of the new police academy for which construction has been initiated ?

a) Rajshahi Police Academy b) Bangabandhu Sheikh Mujub National Police Academy

¢) National Pelice Academy d) Jessore police Academy
04. Whatis the tenureof the Governor of Bangladesh Bank ?

a) 2 years b)4 years

¢)3years d).> years ans. B
05. Which Bank was the first to launch agent banking in the country?

a) Mercantile Bank b) Eastern Bank

c) Bank Asia d) BRAC Bank ans. B

ITKnowledge

06. Which of the following is-an.important attribute of RAM memory ?

a) Random access b) Volatile

¢) Non —Volatile d) Seguential access ans. B
07. Data access time debends on

a) Operating frequency b) Seek time

¢) Rotational delay d) All of the above ans. B

Note: The access time for disk drives includes the time it actually takes for the read/write head to

locate a sector on the disk (called the seek time). This is an average time since it depends on how far

away the head is from the desired data.
08. The primary job of the operating systems

a) Manage Resources b) manage Users

<) Manage programs d) Manage commands ans. A
09. The file system “NTFS” stands for ‘

a) New Type File System b) Never Terminated File System

¢) Non Terminated File Systems d) New Technology File System ans. D
I0. Unix Operating Systems is a—

a) Multi Tasking Operating Systems b) Time Sharing Operating System

) Multi User Operating System d) All the Above ans. D
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1. A group of 1200 persons consisting of captains and soldiers is travelling in a train. For every 15 soldiers
there is one captain. The number of captains in the group is

a) 70 b) 75
c)85 d) 80
Answer:

15 & tAfACEa 047 | O I

1

. 1 &9 I Toay Emmﬁm

20
. 1200 S LA 45 IT = 80 & FCH ; ans. D

12. A courtyard 25 m long and 16 m broad is to be paved with bricks of dimensions 20 cm by 10 cm. The

total number of bricks required is .
a) 25000 b) 20000

c) 18000 d) None of these
Answer: '

25 x100=2500 cm

16 x 100=1600 cm

. SO ST 2500 % 1600
=4000000

3054 SIS = 20.x 10 =200

;. G635 vE9I = iogg_% =20000 & ans.

13.  A'student has to obtain 33% of the total marks to pass. He got 125 marks and failed by 40 marks.
maximum marks are

a) 1000 b) 800
¢) 500 d) 300
Answer: =Tt &7 7R 33% W1 (125 + 40)= 165
- 33% = 165

165
16=33

| ' _

100%:%:50@ | . ans.

14. The cost of carpeting a room 18 m long with a carpet 75 m wide at Tk. 4.50 per metre is Tk. 810.
breadth of the room is i

a)7m b)8 m
c)7.5m ' d)8.5m
Answer;

I5. A shopkeeper sold article offering a discount of 5% and earned a profit of 23.5%. What would
been the percentage of profit earned if no discount was offered ?

a)30 . b)28.5 ,
c)24.5 d) None of these ans.
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16. A person borrows Tk. 5000 for 2 years at 4% p.a. simple interest, He immediately lends it to another
1
person at 63 % p.a. for 2 years. Find his gain in the transaction per year.
a) Tk. 167.50 b) 150
c) Tk: 125 d) Tk. 112.50
Answer:
100 B9 % (7% 4 Bret
4
L1 BRI Too or
00
25000 B ming—g— = 200 BT
1
SR, 100 SR 97 6 M 6.25 By
6.25
A BRI e 100 ort
6:25 x 5000
-.5000 B 77, v 100x100 = 3125 ofer
SOTES @ =312.5-200 = 112.50 _ ans. D
17 In an election a candidate who gets 84% of the votes, is elected by a majority of 476 votes. What is the
total number of votes polled ?
a) 848 b) 749
¢) 700 d) 672
Answer: el 7 cotate 84% ceib
A M (1002 84)% = 6% oo
<. Ol (ST AR.84 - 16 = 68%
68% = 476
476
Lo, -
4
L 100% :M =700 ans, C
68
/8. The total number of digits used in numbering, the pages of a book having 366 pages is
a) 1305 b) 1098
c) 990 d) 782
Answer: 1 - 9 *I¥% *{b7 AW FAre v 7w 9 6 fofes
R, 10 - 99 =74 TR 2 (99-9) 902 = 180 T efes
SI9IE, 100-366 " " " (366-99) x 3 = 801 & s
. G5 fefEb 9 + 180+801 =990 ans. C
9. On selling a chair at 7% loss and a table at 17% gain, a man gains Tk. 296. If he sells the chair at 7% gain
and the table at 12% gain, then he gains Tk, 400. The actual price of the table is
a) Tk. 2400 b) Tk.2200
c) Tk. 1800 _ © d)Tk. 1600 _ ans. A
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The simple interest on a sum of money at 8% per annum for 6 years is half the sum. The sum is
a) Tk. 4800 b) Tk. 6000

¢) Tk. 8000 d) None of these

Answer: Back Solving Method: 45, 5197 = 6000

8
. 6000 x 755 6 = 2880 # 3000 [6000+2 ]

8
Sirard, 8000 x 100 % 6 = 3840 4000 [4000 + 2 |

s
991, 4800 x 100 % 6 =2304 # 2400 [2400 + 2 ]

-JOC- 2018

dans,

21.

22,

23

TR (FALE 7 |

Banking
Banking sector comes under which of the following sectors ?
a) Industrial sector b) Agriculture sector
c) Service sector d) Manufacturing sector

The availability of cash-and.other cash like marketable instruments that are useful in purchases a

investments are commonly known as?
a) Liquidity b) Cash crunch
¢) Credit d) Marketability

When it comes to providing locker facility to the customer of any bank, the relationship between

customer and banker is that of:

ans.

ans.

a) Lessee and lessor b) Debtor and ereditor

¢) Bailor and bailee d) Agent and principal ans.
24. Providing banking services to a customer without his entrance inside the bank’s branch is called as:

a) relationship banking b)Virtual banking

¢) universal'banking . d) mobile banking ans.
25. Mortgage relates to which type of loan among the following?

a) Gold loan - b) Educational loan

c) Carloan d) Housing loan ans.

Bl

26. PR - G oA g -

a)fem b) ST

C) SIereify d) STerst ans.
27. ‘B I forer 9

a) iferer b) =Ixferr

c) Sy forr : d) (W2 77 ans.
28, QA A AT ACF O B T 2

a) (A CSSFI b) cefrfaer

c) &It d) cafgsorgie ans.
29. ©7 I TFTS &R I 2

a) ¥R, TP, agfre b) carege, #iarg, fEs

¢) WYIF, IHA, T2g ' d) “fe<z, <e, o ans. C&
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31

32,

33.

34.

‘«ff TR RR SN It wie we & 7

a) “ifTe 2re At e e b) G T

¢) faom @i d) e s T 0 ans. B
English

Choose the correctly spelt word: (31 - 32) :

a) FAVOURIET : b) FAVOURET

¢) FAVORETE d) FAVOURITE ans. D

Answer: Favourite ¢ 2z férrena |
a) SUGGEST b) SUGAST
c) SUJEST d) SUGGAST ans. A

Answer: Suggest wd zrat 3fEe Srgd 91 9 e (ew/eE (e |

Select, from the options, the pair having a similar relationship to the first pair (33 - 34) :

Army : Logistics :: :

a) Business : Strategy : b) War« Logic

¢) Soldier ; Student d) Team : Individual

Answer: Armly T® Logistics (30 g &) @ & s, SF Business (9 Strategy (TFI4F) 43 SETew
T | ans. A
Editor : Newspaper :: ;

a) Lecturer : University b) Architect : Design

¢) Nurse : Hospital d) Teacher : School ans. B

Answert Editor ((71%%). Newspaper (F&3[q°@) F=Aal ST | W Architect ("z"ﬂ%) Design (F1FT) T |

Choose the correct preposition (35 - 36).:

35.

36.

37

38.

39.

Job Publications Limited

He felt bad no reason at all.

a) of b) on

c) for d)in ans. C
The train of Rajshahi departed the platform.

a) from b) with

¢)at d)on - ans. A

Fill in the blanks (37— 38):

Leap years, _____have 366 days, contain an extra day in February.

a) that b) when

¢) where d) which ans. D
Nazrul, ____is our national poet, was also a soldier.

a) who : b) whom

c) he d) what ans. A
AMENABLE (Select the word closely opposite in meaning) .

a) agreeable b) bound

) Unwilling d) submissive

T I ST S Wl 9 7S o |
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Answer: Question @& ¥ *sewE W Amenable- “fETRwS / AT, Agreeable- SWIfE / WoaE=

Unwilling- Sf~eg®, submissive- w3t / ar4r |

ans. C

40. DOMAIN (Select the word that conveys nearly the same meaning)
a) marketing b) area
¢) main d)fielding
Answer: Question @7 T3 et o Domain- 1 | =% 31 o o, Marketing- &% @3, Main- g==
G | _ ans, 8
Analytical Ability
41. Aliis younger than Sonia and Rupali is older than Tom. Who among them is the oldest ?
I) Rupali is older than Ali.
IT) Sonia is older than Rupali.
I1T) Tom is the youngest among all.
a) Only I b) Only 111
¢) Onlyland I d)All 1, IT and 1
Ansv;rer:
—_— T
A S
T R
AT T (F?
—_—
i)A @'5 @ [R @5 2+ fAWE 73] <
I
i) A @ S[..T>R®R * S' &w*12 Tg]
Eii)T@ A@ S@ [R @7 71+ ff2 w1 ans.
42. Five persons - A, B, C, D and E are sitting in a row who is sitting in the middle ?
I) Bis betweenEand C." i
IT) B is to the right of E.
lli) D is between A and E.
a)OnlylandII ; b) Only IT and 111
c) Only I and III d)AllL, IT and 11 ans.
43.  How many sons does X have ?
I) Q and U are brothers of T.
IT) R is sister of P and U,
III) R and T are daughters of X,
a)Only Iand I b) Only Il and 111
c)All L, I and 111 d) I, IT and T together are not sufficient ans.
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4

46.

47.
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Direction : In each of the following questions, select a figure from amongst the four alternatives, which
when placed in the blank space of fig. (X) would complete the patter.. (44 — 47)

B R

B
X A

A
2 A
X A B G D
4 L b <4 & q
’-;ng La 2V e S
= A B C
X D

Find the missing term inieach of the follewing series (48 - 50) :

48. 10000, 11000, 9900, 10890, 9801, ?

a) 10929 b) 10781

c) 10423 d) 10241

Answer:

1000 - 100 = 9900 9900 - 99 = 9801
10000, 11000, 9900, - 10890, 9801, ?
11000- 110 = 10890 10890 - 109 =10781

49." 2,5,9,19,37,7

a) 78 b) 76

)75 d) 73

Answer:

2x2+1=5

5x2-1=9

%2+1=19

19%x2-1=37

37x2+1=75
Job Publications Limited A-7
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50. 1,6,157,45, 66, 91 :

a) 28 b) 27
c) 26 d)2s
Answer:

Ix1=1

2x3=6

Ix5=15

4x7=28

5x9 =45

6x11=66

7x 13 =91

Part IT: Descriptive Questions

(Answers have to be written in the given space)
01. | Focus Writing in Bangla (15 Mar
ST AT ST ST T FACH G5 05 e |

02. Focus Writing in Bangla : (10 Marks
SR G NS S Ee- a3 eifesm (o AeRmTa e oy 43S o1 e |

03. Translate English to Bangla | (10 Mar
In order to support government’s rapid poverty reduction, program and promote inclusive gro
Bangladesh Bank has been implementing extended financial inclusion activities. Due to the initiativ
taken for financial inclusion, credit flow is increasing in the under - served sectors which had been getti
less attention including agriculture and in the sectors deprived of financial services like micro and sm
enterprises, renewable energy etc. To make these initiatives successful and sustainable, there is
alternative to effective risk management, including most importantly the management of credit risk.
Answer:maﬁmqﬁwqwﬁﬁww%@mwﬁﬂmmwmwmm
S yeTEe udtafer T ormT w6 wETR | 92 ARCFAGTEA] AR T PRI 77 0 %] AOGTAT @ T2
TR g, FARARr 4, sdafes e I GFY (T S W &R I (TR | @ T T
GRS 0o S I I Ry w7 3w I g Rew iz |
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Focus Writing in English . | (15 Marks)
Write a paragraph on traffic jam in the Dhaka city.

Taffic Jam in Dhaka City

Answer: Dhaka is mega city and the capital of Bangladesh. More than twelve million people live in
Dhaka and its population is increasing rapidly. So, many problems created by its huge population.
Every day about seven hundred thousand rickshaws ply in road of Dhaka and the huge number of
rickshaws is creating a Traffic jam in the city. Almost all the street is getting jammed by buses, CNG
and rickshaws. Traffic jam has become a regular feature of Dhaka city. Traffic jam obstructed our
trade and commerce. If get we out from home for office or school, we face jam and only twenty
minutes way take two hours because of the jam. As a result we need more time to reach our
destination and we lose our valuable time. The students also face problems to attend their class
timély. For Traffic jam we cannot complete our task write time so our trade or commerce affected.
We cannot provide goods and material with in due time. We have to spend half of the day on the
road if we want to go somewhere in the city. It also polluted our environment because many
vehicles gathering together are created sound and air pollution. Men have stepped on the moon.
Now they are.going from one place to'another with few hours. But the citizens of Dhaka(sometimes)
can notsfeach to Gulistan, Jatrabari fromsMohakhali or Farmgate within few hours. Who is
responsible for this? Traffic Jam is that magician. Traffic jam has become a great monster in our
modern life. Traffic jam has turned daily trips into nightmares. The business community inevitably
suffers for the constanitwaste of its most precious resource of time. Others commuters complain of
being stuck injam for hours an end; while residents breatheina lat more lead and almost 10 percent
of its population seeks medical treatment each year for«air pollution related respiratory illnesses.
Many roads of Dhaka city are not spacious accordifig to the necessity. As a result, traffic jam occurs
very now and then in the congested, areas even of the highways. Overtaking tendency is another
reason which causes. traffic jam. Traffic) jami'stops our normal course of life. At office time it is
painful to mention that the foreigners.hesitate to invest in our country for traffic jam. It is very
shameful for us. In this'way-it"défames our prestige to the foreigners. Above all traffic jam always
pollutes our environment. Obnoxious smell emits form standing vehicles. So if we don’t be aware
and the authority don’t take the remedial meastres to eliminate the Traffic Jam in-Dhaka city the
situation will turn even more difficult with the illegal automobile and rickshaws parking.

Focus Writing in English - (70 Marks)
Write a letter to your friend expressing your views how to increase remittance in Bangladesh.

Translate Bangla to English (10 Marks)
wwmmwwﬁlmwmewqmwwﬁmw|mmew,w§%.w
& Rras SN NYTT 2R TG A | wfew T, o, S 2oz, afew, o Ayl ¢ wow S WO T
AT MRS @ TS T WHE | o1 e St @ wifeR AR WSy | She} I WHITH SIS Hal SR
<SR T RN T LG BT SIS FES @ T Wi SR v Zeed | (@ weR o 7Y F@ A
T | TECATR MRS f AR | 9T I e AG e S elfefie ke Mgerr S |

Answer: Language is not only medium of express of feelings. Indeed, language is mixed up with all
over existence and feelings. Our emotions feelings, love and heart are expressed through language.
Thinking, Knowledge history, tradition Culture and individuality of a nation are carried out and
practiced nation after nation. In that sense language and nation are identical. In 1952, not only our
language is rejected but also our long ran tradition and inherent identity are denied. no nation can
endure it. Bangladeshi did not tolerate it. On 21 February we established our mother tongue by
scarifying blood.

T ST e T Bret WiF 6w ana i

i A9 I .
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07. Mathematic (70 x3=30 marks]
A) A retailer buys 40 pens at the market price of 36 pens from a wholesaler. If he sells these pens giving
adiscount of /%, what is the profit percent? (10 Marks)
Answer: 4% &fSfb e o 10 St

", 36T FF0E W@ 360 Biw
e,

360 Trew fary 40/ Faw

ST, 40 6 S0 w1 = 400 Srar
. #% = 400 - 360 = 80 B3

1% oot Rerrger

o :
=400 - 75,5 (400 & 1%)
=400 - 4 = 396 GIaT
. ¥ 396 - 360 = 36 B
360 B3 71 = 36 ;
36
1ﬁmm3ﬁoﬁm
36 x 100
.~ 100 Bty st o

B) A, Band C started a business by investing Tk. /,20,000, Tk. /,35,000 and Tk. .50 ,000 respectively. Fing

the share of each, out of an annual profit of Tk. 56, 700. (70 Marks)

Answer:

A:B:C 9 COGES WS

= 1,20,000 : 1,35,000 : 1,50,000

®319.:10

R ERGIE

56700 x 8
27

56700 x 9
g7 = 18900

56700 % 10
27

=10%

A= = 16800

B=

CF =21000 Ans.

1
C) The simple interest on a certain sum of money for 25 years at 12% per annum is Tk. 40 less than the

1
simple interest on the same for 35 years at /0% per annum. Find the sum. (710 Marks)

Answer:

4f, By A x
25 10 7
a‘ﬁm,[(xxwu)z—mzsm]ooar ]+40=(xx 705 % 55)

%041
G5 xg)- G 20’ 40
3x b, <8l
=100 200 ~40
6x-x :
T2, o
= 5x = 40 x 200

40x 200
RS

=1600 Ans.
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